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(DB FE U
HEARBEERL 42,000 42,000 0
BEAMESZIFR 42,000 42,000 0
HEEEERLE 0 0 0
BEEEZIAE 0 0 0
= g 0 0 0
BEMEZIAE 213,369,000 209,771,000 3,598,000
HEEFHSDBAE 0 0 0
fhilEEZHREHES 469,000 2,669,000 A 2,200,000
ThLEXEBREAES 469,000 2,669,000 A 2,200,000
AiE AE&EE 0 0 0
U AR 2,000 2,000 0
ZHFE 1,000 1,000 0
Z DR EE 1,000 1,000 0
FE IR ET 213,882,000 212,484,000 1,398,000
QREER
BEE 206,169,000 204,911,000 1,258,000
WHFH 44,420,000 47,603,000 A 3,183,000
BHELEE 7,355,000 7,921,000 A 566,000
FREEES 6,183,000 4,224,000 1,959,000
wIEE 34,000 25,000 9,000
WEXEE 21,000 15,000 6,000
BIEERE 605,000 626,000 A 21,000
RAmE A E 383,000 383,000 0
HERE 4,648,000 4,613,000 35,000
E1EE 4,054,000 2,692,000 1,362,000
ENRI A& 425,000 440,000 A 15,000
AL E 2,504,000 1,927,000 577,000
BEE 48,000 70,000 A 22,000
SeEIKE 37,684,000 39,160,000 A 1,476,000
BEEH 2,962,000 2,820,000 142,000
fRIEF 157,000 172,000 A 15,000
E1E 88,366,000 87,929,000 437,000
HE 25,000 25,000 0
B E 229,000 200,000 29,000
FHH 1,175,000 1,181,000 A 6,000
R HE 80,000 100,000 A 20,000
ZihEEE 86,000 72,000 14,000
AR AR 4,725,000 2,713,000 2,012,000
I 7,713,000 7,573,000 140,000
1% S $REN 417,000 417,000 0
fEHFY 2,440,000 2,548,000 A 108,000
BEHNELEE 488,000 440,000 48,000
BRREES 68,000 101,000 A 33,000
wIEE 5,000 5,000 0
WREXEE 8,000 5,000 3,000
BIEERE 187,000 202,000 A 15,000
RmEE 84,000 114,000 A 30,000
HERE 291,000 391,000 A 100,000
EEE 119,000 188,000 A 69,000




SGEE N 140,000 252,000 A 112,000
BEE 47,000 47,000 0
A& 176,000 135,000 41,000
BEEH 947,000 626,000 321,000
REEH 21,000 54,000 A 33,000
FHH 368,000 381,000 A 13,000
ExE 1,365,000 1,156,000 209,000
XiLBiEE 226,000 232,000 A 6,000
ARG 316,000 279,000 37,000
EEEA 213,882,000 212,484,000 1,398,000
STiE 2 S B AT L MR 4R 0 0 0
HERUEFEERSE 0 0 0
HEEEFmERSE 0 0 0
BREFMIIHFTHEERESE 0 0 0
SRl 18 4 5t 0 0 0
LR R R 0 0 0
2. BENEGBOI
(DB E S U 0 0 0
QrRENER 0 0 0
LEARRE SMERIEE 0 0 0
= EtiREZE 0 0 0
2 HA— A% IE R B EE 1SR AR 0 0 0
—RIEREAERE S 13,912,514 13,912,514 0
—RRIERRBA AR A 13,912,514 13,912,514 0
Y& 7€ IE R BA EE IR D EB
L AT IE R BA EE IR AE 0 0 0
BEERMERE RS 3,000,000 3,000,000 0
{EE IEBREAFEEAR TR = 3,000,000 3,000,000 0
I EGREAEEIRES 16,912,514 16,912,514 0
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